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Mother's Arithmetic • Time & Work

1. 50 men can complete a work in 28 days. They

started the work together, but at the end of

each 10th day, 10 men left the job. The work

was completed in how many days?

50 28

10 10

(SSC CHSL 24-3-18 S2 2017)

(A) 36 (B) 38

(C) 40 (D) 45

2. 40 people can complete a work in 40 days.

They started the work together but 5 people

had to leave the work on every tenth day. In

how much time the work would be completed?

40 40 

10

5 

(A)
1

56
3

(B) 
2

56
3

(C)

(D) 
1

46
3

3. A group of men decided to do a job in 8 days.

But since 10 men dropped out every day, the

job got completed at the end of the 12th day.

How many men were there at the beginning?

8 

10 

12

(CAT Previous Year)

(a) 165

(b) 175

(c) 80

(d) 90

4. 33 man complete a work in 30 days. If 44 man

started the work and every day one man left

day-by-day then minimum how many days are

required for completion of work ?

33 30 44

(A) 21 (B) 44

(C) 45 (D) None of these

5. 150 workers were engaged to finish a piece of work

in a certain number of days. Four workers dropped

the second day, four more workers dropped the third

day and so on. It takes 8 more days to finish the work

now. Find the number of days in which the work

was completed?

(A) 30 (B) 25

(C) 38 (D) 40

6. 150 men undertake a work to do in some days.

If after everyday 4 men leave the work then

work will be completed in 8 more days than

before. Then find the number of days in which

work has to be completed intially?

150 

4 

8 

(A) 32 days/ (B) 18 days/

(C) 17 days/ (D) 21 days/

10
TYPE
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7. A group of workers was put on a job. From the

second day onwards, one worker was with-

drawn each day. The job was finished when

the last worker was withdrawn. Had no worker

been withdrawn at any stage, the group would

have finished the job in two-third the time.

How many workers were there in the group?

2/3 

(CAT Previous Year)

(a) 2 (b) 3

(c) 5 (d) 11

8. 25 persons can complete a work in 60 days.

They started the work. 10 persons left the work

after x days. If the whole work was completed

in 80 days, then what is the value of x ?

25 60 

x 

80 x 

(CGL Mains)

(A) 9 (B) 8

(C) 12 (D) 30

9. A group of workers can complete a piece of work in

50 days. When they are working individually. On

the first day one person works, on the second day

another person joins him on the third day one more

person joins them and this process continues till the

work's completed. How many approximate days are

needed to complete the work ?

(A) 8 days / (B) 9 days/ 

(C) 10 days/ (D) 11 days/ 

10. 24 girls work for 4 days on a project and com-

plete one-ninth of it. 30 boys work for the next

x days and complete one-third of it. If after ‘x

+ 4’ days, 24 girls and 30 boys work together

and complete the remaining work in 
26
3  days,

how many days will boys take to complete the

whole work?

24 4 

30 x 

(x + 4) 

24 30 

2
6

3
30 

(A) 21 (B) 20

(C) 18 (D) 27

11. If 6 men and 8 boys can do a piece of work in

10 days while then 26 men and 48 boys can

do the same in 2 days, then what is the time

taken by 15 men and 20 boys in doing the

same type of work?

6 8 10 

26 48 2 

15 20 

(A) 4 days (B) 5 days

(C) 6 days (D) 7 days

12. One man, three women and foud children does a

work in 96 hours while two men and eight children

can complete the sam,e work in 80 hours. 2 men

and 3 women can do it in 120 hrs. Find in how much

time will 5 men and 12 women complete the work.

96 

80 

2 3  120 5

 12 

(A) 
1

39
13

 hours (B) 
7

42
13

 hours

(C) 
7

43
13

 hours (D) 44 hours
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1. (C) Total work = 50 × 28 = 1400

First 10 days work done by 50 people

  = 50× 10 = 500

Second 10 days work done by 40 people

             = 40 × 10 = 400

Third10 days work done by 30 people

             = 30 × 10 = 300

Fourth 10 days work done by 20 people

             = 20 × 10 = 200

       Total = 1400

The work complete in = 40 days

2. (B) Total Work - 40 × 40 = 1600 units

First 10 day's work - 40 × 10 = 400 units

IInd 10 day's work - 35 × 10 = 350 units

IIIrd 10 day's work - 30 × 10 = 300 units

IVth 10 day's work- 25 × 10 units

Vth 10 day's work - 20 × 10 = 200 units

50 day's work = (400 + 350 + 300 + 250 +

200) = 1500 units

Remaining work = (1600 – 1500) = 100 units

Remaining people = 15

So, time = 
100

15
 = 

2
6

3
 days

 Total time = 
2

50 6
3

  
 

 = 
2

56
3

 days

3. (A) let there are X men in the group initially.

So, Total work = 8x

 8x = x + (x – 10) + (x – 20) ...+(x–110)

 8x = 12x – 660

 4x = 660

 x = 165 men

4. (B) Let work get completed in n days

total work = 33 × 30

sum of N terms =   N
2a n 1 d

2
 

 33 × 30 = (44 + 43 + 42 ....n term)

 33 × 30 =
N

2
[2 × 44 + (n – 1) (–1)]

 33 × 60 = n [88 – n + 1]

Solutions
 33 × 60 = n [89 – n]

 n = 44

 work get completed in 44 days.

5. (B) Let now work was completed in x days

m is efficiency of each man

So, Total work = 150 × m × (x – 8)

 150 × m × (x – 8) = 150 × m + 146 × m + 142 × m

+ ......... (x days)

 150 × m × (x – 8) = m × 
x

2
[2 × 150 + (x – 1) (–4)]

 150x – 1200  =  150x – 2x2 + 2x

 x2 – x – 600 =  0

 (x – 25) (x + 24) =  0

(x  24 because time can't be  negative)

 x = 25 days

6. (C) Let intially work to be done in (n – 8) days

Total work will be equal

150 (n – 8) = 150 + 146 + 142 ..... + n

150 (n – 8) = 
n

2
[2 × 150 + (n – 1) (–4)]

150 (n – 8) = 
n

2
 [300 – 4n + 4]

150 (n – 8) = 
n

2
 [304 – 4n]

n = 25

 n – 8 = 17

So, required time = 17 days

7. (B) Let there were n workers on a job

     Let limit of work is done by one worker in

     one day.

     Work done on 1st day = n × 1 = n

     Work done on 2nd day = (n – 1) × 1 = n – 1

     n + (n – 1) + ......... 2 + 1 = n × 
2n

3

              
n n 1

2
 = 

2n²

3

               3n + 3 = 4n

                       n = 3
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8. (D) 25 × 60 = 25 × x + 15 × (80 – x)

25 × 60 = 25x + 1200 – 15x

300 = 10x

 x = 30

9. (C) Let now total work got completed in x days

m is efficiency of each man

Total work = 50 × m

 50 × m = m + 2m + 3m + ........ (x days)

 50 × m = m
x x 1

2

 x2 + x – 100 = 0

 x = 
1 1 400

2
= 10 days

10. (C)  24 girls do 
1

9
th of project in 4 days.

 24 girls will do 1 work in 36 days.

Again, remaining work

= 1 – 
1 1

9 3

= 
9 1 3 5

9 9

 (24 girls + 30 boys) do 
5

9
 work in 

20

3

days.

 (24 girls + 30 boys) will do 1 work in

20 9

3 5
 = 12 days.

 One day's work of 30 boys

= 
1 1

12 36

= 
3 1 2 1

36 36 18

 Required time = 18 days

11.(A)            6M +    2B = 10 days                  ....(i)

and   26M + 48 B =   2 days              ...(ii)

         15M + 20 B =   ?

Here,      M
1
D

1
 = M

2
D

2

× 10 = (26M + 48M) × 2

60M + 80 B = 52M + 96B      8M = 16B

   M = 2B

Now, in Eq. (i), put M = 2B

    6 × 2B + 8B = 10 days

12B + 8B = 10 days

So, 20 B work finish in 10 days.

Then,    15M + 20B = 15 × 2B + 20B

     = 30B + 20B = 50B

Now,      M
1
D

1
 = M

2
D

2

20 × 10 = 50 × D
2

   D
2
 = 

20 10

50
  D

2
 =4 days

12. (C)


